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Boanoro T1. A, B separ rooHyyasg XyBea + yitngamiir A+ B = I3 TOAOPXOITEE.

AB+1
(1) (A*B)*C = A+ (B + C) ro oaran.

(2) (((++-(((1%2)%3)%4)--+)*59) x60) 61 HIIPXUALIHIE YITHT O

Boxnoro T2. a, b rask 5x1931 eMHexX X0€p YrHHT HEL 3aarasK OMYHX 3aMaap OafiryyiacaH a,
b, ab, bab, abbab, bababbab, ... yremita napaanneig 3-p rHmyyHEssc XOMMNX anle 9 THITYYHHHA
XaAMTHIH YpI TAIBIH X0€p YCTHIT Japaxa] NATHHIPOM YT YYCHS 'Sk Oaran. DHI apa, ypaaacaa
AT MKI VHIDHTAAAT YTHAT nanundpom YT raE Hapaamsr. Kumss ve ababa nammunpom, abab
MATHHIPOM OHII.

Boxnoro T3. a!-(a-+ 1)! = b! gafinar 6yx marypan Toou (a,b) xocwr o

II edep: 2024 onwi 12 capein 15

Bopnoro T4. cos® a+cos? F+cos? v = 1 mexuen 6uenasr «, (3, ¥ eHOCyyATail Xypr eHIerT

T'YPBALKHEI XYBL]
coscy €083 cosy

sinee  sinf  siny T

DOJIOXEIT DaTa/liK, TOHIIIMNII XYPIX HOXIIEAHHT 0.

Boanoro T5. ' opofin eumer ur Moxoo daiinar, rofiporr darrcan ABCD nepeen emnerr
erernee. BC D H napanmenorpamm 6afix H msrufir apae. AH mynyyu CD mynyyurait M
marr, BC myayyaraii N warr orrioanomo. H marmiir patipean AC mynayyarafi mapamien
mynyya, C'D mynyyarait K narr, BC' mynyyaraii L narr orrnoamoso. Xapse K, L, M, N
I3TYYA HAT Toiipor A39p opunnk dafisar L ABC = 90° faiima ramk Haran.

Boanoro T6. P(X) = X%+ 61X + 2025 onon rumyyaruiir 6yxsn xosddummenrroit xoép
TOITMOJI QHIN OJIOH THINYYHTHIIH VPKEIPT TABLK OOIOXTYI 3K OarTal.



